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m= | HA7TY 5E PRERS GE) | PIMBE | gz | BM3T | hyminar)
iREES rs BB LT EHASTHT 2HCN)| AEH 7.7 | A&H 6.4
R EES hSIF LT 13H(H)|] A #&H 9.2 | F~&H 7.4
e EEES F Y ELL 7 7 FH BT 4R TH(B)| At&HE 9.8 | A& 8.1
AEEES x5 F+ EBLmEAILETRARE]| 308 (k)| F&H 5.6 [ A%&H 4.7
RESES x5 F+ 8L AT 8H(N)| A& 7.1 | A&EH 5.6
6 |Fx VEXEwa 8L R AR 3TH(R)| A& 7.4 | ~&HE 6.4
[ EES VEXEwa 8L = FHET 31H(R)| A i&HE 7.5 | A &H 6.5
8 |BHx DX 5F+ B ZiEH] 3IIH(KR)| A 8.1 | A%&H 6.8
EESES x5 F+ BILUHEXILETER [ 15HCN) | A&EH 8.8 | A&H 7.4
IEES aNVF LT ZEEIIERE | 2HCN)] R~ i&E 6.8 | ~&H 5.7
(REES Jv A1 E LT ZEIRE [18H(2)] A i&E 7.3 | A%&H 6.0
(REES v A1 E HA AL =&FH] 25H ()| F~aH 12.2 | A%E 10.8
(EEES EVE:Y] BLUBBEMEENTE| 7TH(B)|] ~&L 10.3 | ~&H 8.3
(EES EEE=P] S EEIIIER TH(B)| A&E 7.6 | A &H 6.2
(FEES EEE=P] =N 18H(£)| ~&E 8.8 | A& 7.0
AEES DEHE L IE 188 (£)| ~&E 4.4 | A &H 4.1
EES FEDTE L =ZIER] 5 30H(K)| A i&HE 8.7 | A& 7.3
FEES NTTA S EEIIIER TH(B)| A&HE 7.8 | A%&H 6.6
EEES BEIIXRF BLUmZEIHELL | 14H(B)[ A& 9.0 | A& 7.2
20 (B JOvad— |ELhEeEn 3B (R)| A& 9.1 | A& 7.3
21 |k Gtk BEA®) [FHEK BLUmZEE]I | 1H&E)] AMEH 5.1 | A%&H 4.2
22 |k Giek. BEk®) [KEIK L ZiaH] 3NH(R)| A#&HE 4.9 | i@ 4.1
23 |k GiPk. B=kZ) [BIK LT E B 15H(N)| A &EH 4.1 | A2 3.5
MNERE N IPEEL: E=EAIIES 16H0OK)| A i&HE 9.4 | A &H 7.5
ENERET R A PEYA Y 8L Lh = FHET 10H(R)| A1&H 9.0 | A& 7.9
HINERET R A PEYA Y N N TH(A)| A~t&H 9.4 | A& 7.6
ENERET R A PEYA Y RGN 8H(N)| A& 9.6 | A& 8.2
NERERE A PEYA Y HA ™ 3NH(AR)| A& 10.2 21.6 8.7
EINERE N APEY AN A= 22BN A& 12.0 | F%E 10.0
30 [BNiE hlA N2 22HCR) [ A& 4.2 | A &H 3.6
31 [EB= T HA™ 25H(2)| ~MaH 9.5 | A&H 8.2
32 [Zoft 52 HA™ 188 (&) ~&E 6.6 | ~&H 5.1
33 [Zoft B EBLLI & 7H(B) 15.9 4.9 64.7 3.5
3 |[Zoft bR EBLLI & 138 (H) 8.7 5.2 14.2 3.8
35 [Zoft bR HANE =ZH] THCN) 11.8 7.1 53.4 5.0
36 |[Zoft B EBLLI & 7H(B) 29.4 9.2 103.4 6.3
37 [Zoft Eg HA™ 188 (&) ~&E 6.0 | ~&H 5.5
38 [Zoft T ESLLHREELL 188 (&) ~&HE 5.6 | A& 4.8
39 [Zoft T ERILhiEER 5H(1)] ~@E 8.3 | A~%&H 6.7
40 [H2TEEXK X (BX) —ATH TH(B)| A &E 4.0 | A &H 3.5
41 [HRTEEEXR X (BX) 8L 9H(K) | A& 5.1 | A %&H 4.5
42 |H2TEEXK X (BX) Al EB~FH 3H(R)] A~igHE 5.3 | A& 4.8
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